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Question 1
Question Type: MultipleChoice

Which of the following represents the cost incurred to raise required funds for new IT resource acquisitions? Select the correct answer.

Options: 
A- on-going costs

B- cost of capital

C- sunk costs

D- locked-in costs

Answer: 
B

Question 2
Question Type: MultipleChoice



A service must be Web-based for it to be considered a cloud service. Select the correct answer.

Options: 
A- True

B- False

Answer: 
B

Question 3
Question Type: MultipleChoice

The cloud consumer of a cloud service based on the Software-as-a-Service (SaaS) delivery model is usually given access to the cloud

service contract and the service-level agreement (SLA) of the cloud service. Select the correct answer.

Options: 



A- True

B- False

Answer: 
A

Question 4
Question Type: MultipleChoice

Although a cloud will commonly be based on Web protocols and technologies, it is not necessary for a cloud to be Web-based. A cloud

can exist with the use of any other remote access protocols. Select the correct answer

Options: 
A- True

B- False

Answer: 
A



Question 5
Question Type: MultipleChoice

The temporary runtime role assumed by a software program when it accesses a service is known as the ___________________ . Select

the correct answer.

Options: 
A- service provider

B- service consumer

C- service agent

D- None of the above.

Answer: 
B

Question 6



Question Type: MultipleChoice

Which of the following can be a cloud service owner of a cloud service being offered as an SaaS product? Select the correct answer.

Options: 
A- a cloud consumer organization

B- a cloud provider organization

C- a cloud consumer also acting as the cloud resource administrator of the SaaS product

D- All of the above.

Answer: 
D

Question 7
Question Type: MultipleChoice

Which of the following functions can be performed by service agents?SELECT ALL THAT APPLY



Options: 
A- routing

B- logging

C- encryption

D- authentication

Answer: 
A, B, C, D

Question 8
Question Type: MultipleChoice

Which of the following types of organizations can assume the role of cloud resource administrator for a cloud service?SELECT ALL

THAT APPLY

Options: 
A- A cloud consumer organization that owns the cloud service.



B- A cloud provider organization that owns the cloud service.

C- A third-party organization contracted by the cloud consumer to administer the cloud service.

D- A third-party organization contracted by the cloud provider to administer the cloud service.

Answer: 
A, B, C, D
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